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Important Questions of General Science PDF (Solutions)

Q1. What is the minimum distance (in metres) required to hear an echo?

TS IS G o o0 sraeds <qaan g (e #) | a2

(a) 10

(b) 13

(c)17

(d) 21

Ans.(c)

Sol. Echo is a reflection of sound that arrives at the listener with a delay after the di nd. The
reflecting object must be more than 17m from the sound source for echo to be percéive person

located at the source. o
Q2. Why does a Black board appears black in colour? o
U s A1 T | Frem F#41 fa@ar 872

(a) It reflects black colour /og FTel W7 &I IqTAT 2. 0‘

(b) It absorbs black colour /g FTer T T Lo 2.

(c) It reflects all colour /2g THT 7 T F9ITAT 2.

(d) It absorbs all colour /ZIg THT T T sr9mTiOT

Ans.(d)
Sol. A black board appears black because it abs 1 the colors of white light and reflects none.

Q3. Which of the following instrument is used to measure Soil Water Tension?
H&T T A1 0 AT 6 oy el & 19 97 STH0r ST 77 S1aT 82

(a) Photometer/
(b) Pyrometery/
(c) Psychrometen

(d) Tensiometer/
Ans.(d)

Sol. A tensiometer in soil science is a measuring instrument used to determine the Soil water tension.
Such tensiometers are used in irrigation scheduling to help farmers and other irrigation managers to
determine when to water. It can also be used in the scientific study of soils and plants.

Q4. What is the SI unit of Force?

I T SI TS FAT 57

(a) Pascal/9m&het

(b) Boyle/ataet

(c) Newton/ =J&+

(d) Watt/aTe

Ans.(c)

Sol. The SI unit of Force is Newton. One Newton is equal to 1 kilogram meter per second squared.
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Q5. Which one of the following is a bad Thermal Conductor?
Faferea & & ®19 97 @Ua 99 Fieael g7

(a) Aluminium/ TeHIH=HT

(b) Copper / HtU<

(c) Glass/ ¥mH

(d) Silver/ foea<

Ans.(c)

Sol. Glass is bad thermal conductor and is a good insulator. It has tightly held electrons which did not
allow heat to flow through it.

Q6. Which one of the following atomic plants of India is located in the IV Seismic Zone?
AT &1 e feried ® & HI a7 92a7T9 697 § [V &t & § g 82

(a) Kaiga /7T

(b) Kalpakkam /&<T9gH

(c) Narora/aT=T

(d) Tarapur/dTX9<

Ans.(c)

Sol. Narora power station is located in the IV Seismic Zone. Kalpakkam is lo
Kaiga and Tarapur are located into the III Seismic Sone

' 0‘
Q7. The oil in the wick of an oil lamp rises up due

to the II Seismic Zone.

TS T o T ATAT § T o @ 7 HICOT AT -

(a) Capillary action / 9T faT

(b) Low viscosity of oil /ae T FH fHaf=rTge

(c) Gravitational force / W‘ﬁ'ﬂT EEl

(d) Pressure difference / @19 AdT

Ans.(a)

Sol.The oil in the wick of an oil lamp rises up is an example of capillary action.

Q8. The worki et is based on the principle of -
TS Tihe Fil Tl T AT 2 -
(a) Conservation o entum / Ha T T HLEAT

(b) Conservationof mass / eI T L&
(c) Conservation of energy / FSIT T HLTIT

(d) Conservation of angular momentum / FTO{T3 HaRT T HLET
Ans.(a)
Sol.The working principle of rocket is conservation of momentum.

Q9. What is absolute zero temperature?

ATer o aTIHTe AT 82

(a) The starting point of any temperature scale / fRET AT TTOHTT FT ITITH ﬁ'g{

(b) Theoretically the lowest possible temperature / §Zide® & ¥ T FHH TTF ATIHTH

(c) The temperature at which the vapour of any liquid substance is condensed. / aTa®TT fore g¥ feft ot

T T&T T ATST FAT gl &
(d) The temperature at which all material in vapour form. / |1 o 9% T+t =Tl a1o7 €9 # 34 2.
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Ans.(b) ﬂ ’ Adda 247

Sol. Absolute zero is the lowest possible temperature at which WV | Tost Serles

point the atoms of a substance transmit no thermal energy. They SSC Previous Years' Papers
are completely at rest. It is 0 degrees on the Kelvin scale, which 2011-17

translates to-273.15 degree Celsius.

PREMIUM PACKAGE

Q10. Rectifiers convert _ Useful for CGL | CPO | MTS| CHSL | GD

TFETRIZH T FAALT Fd 3. 250+ Total Tests

(a) high voltage to low voltage / SF ATeesl &l FH qloesT § 7 R SRLTew & Tiaril Macks
. . v" 10+ CPO Mocks

(b) low voltage to high V(?ltage / T ATeeST Tl 3g Aloesl | v 140+ CHSL Mocks

(c) ACto DC / AC T Dc# "

(d) DCto AC/DCHT ACH

Ans.(c)
Sol. A rectifier is an electrical device composed of one or more diodes that converts alter
(AC) to direct current (DC).

current

Q11. Gravitational force is maximum at which of the following place? o
9 § o fohg o9 % ATy o 9 ATawaH 82 ‘:
(a) At equator (T T@T UX)

(b) At tropic of cancer (F ¥@T U%) @
(c) At tropic of Capricorn (H&< ¥@T U%)

(d) At poles (gaT %)

Ans (d)

Sol. The value of Gravitational Force range fr um of 9.78 metre per second squared at the
Equator to a maximum of 9.83 metre p C uared at the poles. Hence Gravitational Force is
maximum on polls. C

Q12. Which of the following sed to measure humidity?
Ao Rarsd & § g T #ir o 9T o StTaT 872
I )

Ans.(b)
Sol. A hygrometer is an instrument used for measuring the water vapour (humidity) in the atmosphere.

Q13. Which of the following is not a vector quantity?

TAH | T 9T Uk dFL q7 Al 87

(a) Momentum (T)

(b) Displacement (far€ama)

(c) Torque (2T%)

(d) Speed (1fa)

Ans.(d)

Sol. Speed is the distance travelled by object in a certain interval of time. Speed is not dependent on
direction hence it is a scalar quantity. While Displacement, Momentum and Torque has both magnitude
and direction, so they are vector quantity.
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Q14. At what temperature (in Fahrenheit) pure water freezes?

Tohel ATIHT 9¥ (FTEAgIEe H) [ 1T ST S1d7 872

(a) 32

(b)o

(c) 48

(d) 37

Ans.(a)

Sol. The temperature at which a liquid freezes is called the Freezing Point. The freezing point of water is
32°F.

Q15. What is the other name of Galileo's law of falling bodies?
AATT T o W aTer AT & T HT GO 919 47 87

(a) Law of motion /3TTa #T T

(b) Newton's first law /=& &T TgT FHlA

(c) Newton's second law/ =& &1 THIT il

(d) Newton's third law/ =& FT FTET FTIA o

Ans. (b) Q

Sol. Newton's first law is other name of Galileo’s law of Falling bodies. A ing to Law of Fall “The
distance travelled by falling body is directly proportional tefthe dhe time it takes to fall”. This
latter claim states that a body in motion will continue its moti 0 s no factor disturbs that motion.

This principle is called the principle of inertia which is on’s first law

Q16. Laughing gas used as anesthesia by do

f=rfehcht GTET |18 & & H STANT il STt
(a) Nitrogen /ATZ2TeT

(b) Nitrogen Oxide /ATZ2ISTH AFETES

(c) Nitrous Oxide/aTZZH 3ffFITS

(d) Nitrogen dio SR EEIECIEE
Ans.(c)
Sol. Nitrous Oxid nown as laughing gas. It is a colourless gas with a sweet odour and taste.
Inhalation leads to orientation, euphoria, numberss, loss of coordination, dizziness and ultimately a
loss of consciousness. It is also used as the anesthetic gas.

I 7 2~

Q17. Easily soluble in water-

T H ST | FeAqeie g-

(a) Carbon/FTa=

(b) Nitrogen /ATSZISIA

(c) Ammonia/3THTT=T

(d) Iodine /3=

Ans.(c)

Sol. Ammonia being a polar molecule dissolves readily in water. This is due to the Hydrogen atoms of

Ammonia which are bonded with a highly electronegative Nitrogen and the Hydrogen atoms of water
molecules which are bonded with the highly electronegative Oxygen atom.
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Q18. Which is the purest form of iron

AL FT T F T F7 &-
(a) Cast iron/=T& ATIALA

(b) Pig iron/fa T s
(c)Wrought iron/3Tee A
(d) Steel /&=

Ans.(c) 20+ THUAHT Hisftoer fEa 1
e =at o Yot 2015-18

Sol. Wrought Iron is the purest form Iron. It contains 0.12-0.25
carbon.

Q19. An aqueous solution of copper sulphate is acidic in nature because the salt undergoes-
FIIT qohe T Ueh ST 1T T TH{d | STFATT gIaT g FAM1h THE 7 -
(a) Dialysis/3TqTg giaT &

(b) Electrolysis/fa=[aa=re= grar g
(c) Hydrolysis /ST €= gIaT § o
(d) Photolysis/®TeTA e graT § o
v%ak base Cu (OH) as there is a

Ans.(c)
Sol. Copper sulphate reacts with water which produces strongac
process of hydrolysis. So it is acidic in nature.

Q20. Sodawater-obtained by passing carbon diexi ater is:
T § F FTET STEAFATEE [ HT TTH

(a) An oxidizing agent /T STFH LI Tsia

(b) Basicin nature/g@‘ﬁ ¥ T

(c) Acidic in nature/ T T

(d) Reducing ag TR

Ans.(c)
Sol. The carben'd
is dissolvedin the
high pressure:So, the soda water becomes acidic in nature.

as dissolved in water can cause water to become acidic. When carbon dioxide
er, if forms a carbonic acid by reacting with water and remains in dissolved state at

Q21. Who invented first working laser?

ToheTeT T AT AT TSI T TSR (haT?

(a) A. H. Taylor/ T U= &&I¥

(b) W. K. Roentgen/ & # el

(c) T. H. Maiman /2T U= |12

(d) Fred Morrission/ € ®i{E+

Ans.(c)

Sol. LASER (LIGHT AMPLIFICATION BY STIMULATED EMMISSION OF RADIATION) is a device that emits
light through a process of optical amplification based on the stimulated emission of electromagnetic
radiation. The first laser was built in 1960 by Theodore H. Maiman.
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Q22. Meter in a vehicle that calculates distance covered by the vehicle is called

T ATg H HIe ST ATE GIT HAL LT %l TUHT HLdTl g I FETATAT &

(a) Speedometer /FfErfiex

(b) Odometer/3rErHiex

(c) Thermometer /JHTHIZT

(d) Kilometre/ fFatrdiex

Ans.(b)

Sol. An odometer or odograph is an instrument for measuring the distance travelled by a vehicle, such as
a bicycle or car. The device may be electronic, mechanical, or a combination of the two.

Q23. What is the SI unit of pressure?

TaT T SI THTS FAT 872

(a) Newton /=2

(b) Weber/aa<

(c) Pascal /9T&het

(d) Henry /2=t

Ans.(c)

Sol. The SI unit for pressure is the Pascal (Pa), equal to one newton per square . This name for the
unit was added in 1971. It is named after the French polymath Blaise Pascal.

o
Q24. Reflection from a smooth surface like that of amirr ( reflection.
TS TYU I q¥g Ueh (e[ dag & Jiarae

(a) Regular / Ao

(b) Irregular / srf= e

(c) Diffused/ foafa 0
(d) Fused/ & Tfora

Ans.(a)

Sol. When a beam pass of paralleLlightways is incident on a smooth and plane surface, the reflected rays
will also be parallel. Fhis type of reflection is called Regular Reflection.

Q25. Whatist
faerer fyEw
(a) Ohm/ S
(b) Farad/ %S
(c) Henry/ %‘v-l'ﬁ

(d) Weber/ Fa<

Ans.(a)

Sol. The ohm (symbol: Q) is the SI derived unit of electrical resistance, named after German physicist
Georg Simon Ohm.

istance?

Q26. Which is the most abundant element after Oxygen?
ARSI o T8 FaH T AT H 970 S JTAT T hid 97 572
(a) Silicon / f&rfersRts

(b) Carbon / FTa

(c) Sodium / AT

(d) Chlorine /FATE
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Ans.(a) =

Sol. The most abundant element on earth’s surface after Oxygen is Q ‘ ?g‘; zsgries

Silicon. It was discovered by ].]. Berzelius in 1824. The word ‘Silicon’ -

was taken from the Latin word silex. Silicon chips are used as a EF{oR T ITERCE T ST T1 £
semiconductor in computers. 2011-17

PREMIUM PACKAGE

Q27. Chemically “Plaster of Paris” is: Useful for CGL | CPO | MTS| CHSL | GD

TATEET AT U TS &9 F 797 ¢
(a) Calcium Sulphate /e H Tohe

250+ Total Tests
v~ 100 + CGL Tier-lI & Tier-1l Mocks

(b) Calcium Carbonate /ﬁv‘%?l’fllﬁ FIATE v 10+ CPO Mocks

(c) Calcium Oxide / Ffeera ST S v" 140+ CHSL Mocks

(d) Calcium Oxalate /FTeerH AFTAS BILINGUAL
Ans.(a)

at forms
1d and

Sol. A group of gypsum cement, essentially hemihydrated Calcium Sulphate , a white powd
a paste when it is mixed with water and then hardens into a solid used in making a
sculpture.

Q28. Bronze is an alloy of copper and- o
T AR AT e E - 0

(a) Tin / fe=1

(b) Aluminium / Wﬁﬁ'ﬂl’ o.

(c) Silver / AT

(d) Nickel / fereret

Ans.(a)

Sol. Bronze is an alloy made up of Copper metal Tin. Compositions may very but most

modern bronze is 88% Copper and 12% Tp
Q29. Which of the following all aximum percentage of Copper?

Aerfertera 5 & i |7 e arq @t srfershae JiaqerT 82
(a) Brass / fiaer
(b) Bronze / Fi¥
(c) Germa

(d) Delta
Ans.(b)
Sol. Brass co s 68-71% Copper and rest is Zinc. Bronze consists 88% Copper and 12% Tin. German
silver has almost 50% Copper. Delta consists 60% Copper, 38% Zinc, 2% Fe.

Q30. Which metal exists as a common component in Brass, Bronze and German Silver?

e, HTET 3T STHAT A&l § Uk 3AH Heawh o &9 § i 97 7q A& 57

(a) Antimony/TEIH=T

(b) Copper/aiaT

(c) Tin/fe

(d) Zinc/STEaT

Ans.(b)

Sol. Brass consists 68-71% Copper and rest is Zinc. Bronze consists 88% Copper and 12% Tin. German
silver has almost 50% Copper. Gunmetal consists 85% Copper, 5% Tin, 5% Lead, 5% Zinc.
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